TOOLS REQUIRED (NOT included) MOUNTING ANGLES MOUNTING CLEARANCE

T1 T2 T3 T4 T5 INSULATION TOP PLATE
@ TERASAKI / / / % / PLATE (EARTHED METAL)
Innovators in Proiection Technology Screwdriver Screwdriver 19mm 8mm Allen 19mm Ring % |
Flathead Phillips (#2) Socket key Socket Spanner &
(5mm) wrench wrench A ” I Xq
INSTALLATION INSTRUCTIONS _ J EF) -2 :
HARDWARE (included) 3 .
MOULDED CASE CIRCUIT % / | )
BREAKERS o / @ § % Zroraue —
TEMBREAK PRO A 5 c b ’ 46-6Nm
P630 3P SMART ELECTRONIC M10x30 M10spring ~ M10 flat M6x100 Interpole Instruction ke

Socket Screw  washer washer mounting Barriers _ Manual
(6 qty) (6 aty) (6 qty) Screws (2 qty) (This Document)
(4 qty)

M10 screw

DIMENSIONS

HARDWARE (NOT included)

u| g =,
g0 & ® I I E, E,
F G H | J

= ==

'T%

|[e—=—>
]

184
90

o

Cable Lug or *M12x40 hex "M12flat 12 Bellevile  *M12 nut e ||
Copper Bar bolt washer washer (6 qty) o
(6 qty) (6 aty) (6 qty) 103 -~ {Panel cutout

8 107
130

L 1

For extension bar connection only PN B

151
(With handle cap|

*distance from conductor insulation to downstream MCCB

OPTIONAL (NOT included)

CLEARANCE
BR1 BR2 W* min X, min X, min
S fobezed peseles T T MCCBCatNo. | “mm) | (mm) | (mm)
\ N N MCCB Cat No.
o S ’ ® (mm) | (mm) P630F
WY =1 -~
S I/ iiir’ @[ P63ON 0 80 P630N 100 80 60
NHP Electrical Engineering Products Pty Ltd K L ‘fnﬁl lh l P630H 5 5 P630H
AB.N. 84004 304 812 P630S
AUS 1300 NHP NHP | nhp.com.au Extension Bars Terminal Terminal Cover Handle Internal e r@eEl’ P6308 120 120 80
NZ 0800 NHP NHP | nhp-nz.com Covers Lock Lock Accessories AN ‘ z

<«—=>|  BR, BR,= Adjacent Isolators / MCCBs

P630_3 SE-IN-001-EN V1.0.0

OPERATING INSTRUCTIONS INTERNAL ACCESSORIES ASSEMBLY PROCEDURE*

STEP 1 TRIP MCCB STEP 2 OPENCOVER

SHUNT/UVT TRIP BAR

Operation  |Force (Nm)
OFF — ON 150
ON — OFF 130

TRIP — OFF 162

DIRECTION OF POWER SUPPLY

OR

— .‘;i/’/"‘ Y
ALARM 4\@ /

*For additional internal accessory ir ions, scan QR code and refer to user manual for more details




S
(7, =]
[
. 5 2
"] = = S
$— = s I o 5 o
8 =o o { E o< : £
BIE = S e 3w s
A e o8 8 ‘s msAa - b
ERE 2 = Z 20 N ] @
B e Hso 1 H =
ovnan SRESR e S e =
CWQ 10002
,"/ w S w A —fo009
m m_um 1 N 0005
= 3 1 - —fo00y
® sz 1 -
. — w.. Wm 3 —t000€ =
\ = w ‘g — 0057
- &= Q2w z - o 3 3 £
\ <T - = w Foz | E
(7] S o O 5w E -
Z < .mn © = -0 = Foos:, =]
{7 = = > O < o 3 =
L ! (- S 3 © =) = =)
14 “ =35 W.ME o ] <
% 52 i oo |
=) \ @ 5323 25 9] S e
o) g 28l g %E8 5 I =[ 8
) S = .2 — T
(@) 7 .A_Iu,ﬁe m mT m <005 m
T Al T - g§s£|¢g &< i L. |F
—T 7 EEec| 3 £ 5
= \OTMT o 55288 : S Q ]
m ) \\I\\\\i\ >Q» 3 S sa|= NumF @ —osz - c
= Ty S AV =z A v SEGg S s= < b 21 L8| s| =] 8
o D = || zEs o | |3 L | |8[E|2| 5%
¥ Qo > o E <=
3 oo/ 5 c®06 =55 sz Sleo|l |yl
@ © o Z O = ° | ©
) S 8 2 we = zZ o o s £ s
[m] s =2 cE| € v < L ¢ WLl Lyl WL ] [(ITITN [(ITITN | [ 4 Qo = —
L =ao| o X < £ - 13
< - } @ | = = E c I ©
>z 8%2|%g S zZoOo Qvo o vgeg g Smeveo o vgggg Smewwo s T338I3 3 SEE8IE B 3 s|S| 5| 2| £
E Sc 22| > o [ } oo ° ol el s 2| 3
z x 2 55E| S 5 Sk - —_— glslz| |2
> 2 Sz zas|a g 3 o - &
o = =2 < <9 (2 L
% g ITeee a3 =
_Dln - Z o0 00 = =

NOTE: The protection menu consists of sub-menus to view and edit each OCR protection setting

A

40.2-65.7 Nm

s /@Iw

<

*Set MCCB toggle in required locking position i.e. OFF or ON

TOGGLE LOCK OPTION

TOGGLE LOCK / PADLOCK ASSEMBLY PROCEDURE

40.2 - 65.7 Nm

-- EXTENSION BAR CONNECTION PROCEDURE

Z
e
Zz 5
ow - .
Y =z
w =z
o
(&)
i
L
o
2
[a)]
L
(@]
@]
o
e Xw E
P4 ©w>DZ
o] £e
= o«
] T
b o N4
2 :
m ElelelelElglE -
& SEEEEEE =
o vijvifvilwvly| T € ]
>
5 o)
S (@]
w alolxe|s|ls s ] 2
zZ <
() I3 =z
|2 £ =
O |gg |2 z =
FREIL: o x
WMNW _._U._2 w
EHEE 3N
S8 = e >
Sy @ / e
g s 8P
=|—|=|x ()
=| NT
AT I 97 ¢
8% 2% % \%w\wd \
B 2| 8| & %
HEHEEE §
£ 8| S 2
28558 /) \ W5
EEEEE == \f/‘//
EEEE 72\ AA\Y
/wls.,w’/ /.a g
< mojuo \v' =
‘v‘
28
w S 32
o S
> . =38
o g g%
3 2 5=
O @ %m
€ @ 2
x 5 8=
& < g
Z [} T s
©) s g
= 5 o L
< 2 28 x
3 E _° ]
“—
2 5 B v
5 c o8| |« z
=z = = » L <
< 2 58 = o
- 2 8 Q
< o N © O L
X & = = =
< @ @ 2 < O
— k= S 0 zZ o
7] Lo s = 4
o =R = L
< zge 14 [
M |Ocm L
(2] 523 = P
L oo -




